(128) 4505

Printed Pages—4+1] 4M.Sc.(IT)3(C)
Master of Science (IT) (Fourth Semester)
Examination, May/June, 2019
ADVANCED DBMS
s@f¥/Duration : 3 ®/Hours] [quifeh/Max. Marks : 80

[FIFa| 3wivie/Min. Pass Marks : 32
fder -
1. YIS Uie ThEdl A fawifa ¥ ydE TR B oo fawew femm mam ®)
2. YIF THE G Wk U9 I SW SO 3H YHR KA U G F SW e
3. wft i & fow wEE e fra ®)
4. Rl AERIEA T TR SR S "Ml ST §HhAl g
5. I H fagnfa R W EST wWEY H WE " S
6. THIOA H Thanedt fruiR@ TN W s @ TR eAfeRd R

Instructions :

1. The question paper is divided in five units. Each unit carries an internal
choice.

2. Attempt one question from each unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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Explain object oriented concept with its structure.
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What are the basic problems with storing objects in a database and how

can you store object oriented data in a relational database ?
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What is a persistent programming language ? Explain
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List at least four problems of concurrent transactions. Explain each with

the help of an example.
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Discuss advantages of object oriented design of databases. Describe
one-to-one and one-to-many associations among classes along with their

diagrams.
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What are the main differences between designing in relational database

and an object database ?
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What do you understand by query processing and optimization ? Discuss

in detail.
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What are the various ways in which a collection of sample data can be

represented at storage level ? Explain one of them.
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What is Parallel Database ? What are the benefits of Parallel Database ?
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What do you mean by fragments ? Why is fragmentation a useful concept

in distributed database design ?
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What do you understand by distributed databases ? What are the advantages

of distributed database over centralized database ?
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Explain the evolution of Client/Server Architecture. List the components

and the use of Client/Server Architecture.
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How do you access the database on the Web ? Explain with the help of

diagram.
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Explain the semistructured data model with suitable example,
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Differentiate between XML DTD and XML Schema with suitable code

example.
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How many ways are there to store XML data in database ? What are

the advantages and disadvantages of each approach ?
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What are the characteristic of spatial data ? How is point spatial data

differ from non-spatial data ?
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What is GIS ? What is the difference between GIS and GPS ?
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What is mobile database processing ? What are the technology requirements

for mobile computing ?
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Briefly discuss the consistency and termination problem when designing

set of active rules.



